m B Al B KSR R

(B

oo ® B HE(Kg) HEOG =2 & R FHEE

1 1= ES el F 342,740 129 3 25,759, 357 4.6 15
2 (& < & L 303, 149 11.4) 22 9,820,379 1.8 32
3 = (A : A 283,121 10.6 11 17,559, 298 3.2 62
4 * ¥ ~N Y 278,197 10.5) 10 19,175, 637 3.5 69
5 |[F A2 W L & 168, 520 6.3 4 25, 640, 799 4.6 152

6 |k ~ b 167, 807 6.3 1 93,4172, 864 9.6 319

1 < A C A 195, 809 2.9 13 16, 871, 297 3.0 108
8 ga) A L & 141, 469 5.3 2 29,224,157 5.3 207

9 g 86, 223 3.2/ 5 23, 657, 865 4.3 274
10 | L 3 A 10,098 2.6 17 13,760, 038 2.5 196
" | i El 54, 333 2.0 7 21,578,919 3.9 397
121z o & = 7 48,197 1.8 14 15, 624, 752 2.8 320
B, = F < + 44,323 1.7 8 19, 320, 615 3.5 436
14 | H ES 5 Ay 42,144 1.6 24 8,831,538 1.6 210
(IR W 3 Y 40, 447 1.5 15 15, 211, 454 2.7 376
16 = E3 3 33,278 1.3 21 10, 961, 730 2.0 329
17 /7 oy a3y — 32, 383 1.2 25 8,109, 308 1.5 250
B £ — = v 30, 648 1.2 19 13,119, 637 2.4 428
9 F 5 1 A £ 5 29,424 1.1 16 14,223,972 2.6 483
20 E3 D 13 26, 494 1.0 27 6,867, 104 1.2 259
21 |12 5 25,928 1.0 9 19, 304, 449 3.5 745
22 L & C 24, 546 0.9 12 17,272,035 3.1 704
23 | & AN Ly &S 20, 443 0.8 26 1,219,228 1.3 353
24 A A 20, 340 0.8 37 2,333,612 0.4 115
2% £ L W f= It 20, 139 0.8/ 6 23,219, 155 4.2) 1,156
26 - ~ 13,936 0.5 28 6, 799, 982 1.2 488
21 | & & (A b 12,984 0.5 32 4,618,271 0.8 356
28 | 7x 9] - 9,628 0.4 33 3,847,407 0.7 400
29 | 2 A Iz < 1,813 0.3] 20 11,223,792 2.0/ 1,426
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(B 3)

o & B HE(Ke) HEOG & @ hE () FHEE
30 = &£ 3 AN 1,754 0.3 35 2,614,558 0.5 3317
N Fry vy A 1,488 0.3 40 , 811,212 0.3 251
22 L v A & < 1,312 0.3 29 5,767,136 1.0 182
3B A 2 I & 1,354 0.3 23 8, 963, 568 1.6 1,219
KT % 1) — 6, 761 0.3 46 , 416,474 0.3 210
% L & 5 M & 6, 521 0.2 30 5,405, 558 1.0 829
36 b [+ =3 4,690 0.2 34 3,112,204 0.6 664
37 | =& B B =X 4,498 0.2 44 , 105, 698 0.3 379
38 | K 3 3,406 0.1 18 13,427,575 2.4) 3,942
I+ F 0o B 3, 260 0.1 42 , 845, 217 0.3 566
40 + Y 2,939 0.1 31 4,622,173 0.8/ 1,573
M hy 73 07 — 2,503 0.1 53 621,010 0.1 248
2 W El 2] 2,475 0.1 45 , 944, 691 0.3 624
81Hh v + FH = 2,0M1 0.1 50 906, 615 0.2 438
44 | X t 1) 1,883 0.1 36 2,521,152 0.5 1,339
4 | » A I 1,826 0.1 55 954, 238 0.1 304
46 | F Ly 1= [+ 1,698 0.1 43 , 820,721 0.3/ 1,072
47 | A i+ A 1,569 0.1 41 , 848, 983 0.3/ 1,178
48 | E — A 1,381 0.1 47 . 247,929 0.2 904
49 | A s 1,284 0.0/ 57 469, 844 0.1 366
5 7 R N T A R 1,034 0.0 48 . 187,919 0.2/ 1,149
ot | F 7 z 820 0.0 51 844,690 0.2) 1,030
2 & A & S5 W 814 0.0/ 63 165, 942 0.0 204
53 | D [+ 13 116 0.0 61 246,132 0.0 344
5 ¥ A 13 A 708 0.0/ 59 389, 967 0.1 551
5 | & L] 690 0.0/ 39 . 924, 625 0.3/ 2,789
5% L L&ESMHBL 630 0.0 49 . 062, 590 0.2/ 1,687
57 & ® 2 A &£ 5 607 0.0/ 38 2,008, 692 0.4/ 3,309
°8 ¥ z R N 204 0.0/ 62 199, 542 0.0 396
5 12 A I < F 415 0.0/ 60 315, 036 0.1 159
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(B 3)

o & B HE(Ke) HEOG & @ hE () FHEE
60 ¥ v ¥a— A 371 0.0 56 941,535 0.1 1,436
61 T ¥ v L v 372 0.0/ 58 449, 064 0.1 1,207
62 | & &£ 3 A 252 0.0 54 991, 624 0.1 2348
63 > E 218 0.0/ 68 124,416 0.0 571
64  H < 3 192 0.0/ 66 134, 460 0.0 100
65 | — J  # 144 0.0 52 139, 606 0.1 5136
66 | < el Ly 12 0.0/ 70 114, 480 0.0/ 1,022
67 A 83 0.0 67 132, 300 0.0/ 1,594
68 & S5 N B L 81 0.0 71 100, 116 0.0/ 1,236
69 | 1= T o - 18 0.0] 72 94,608 0.0/ 1,213
0 2 ES Ho K 68 0.0 77 34,191 0.0 203
n | % 1€ =3 65 0.0 69 118, 368 0.0 1,821
12 ) ES & 60 0.0/ 76 39, 420 0.0 657
3 1= =) D 3 46 0.0/ 64 162, 054 0.0 3,523
€ O ~ 4 ¥ 38 0.0 75 45,576 0.0/ 1,199
5 L z 37 0.0/ 65 140, 530 0.0/ 3,798
76 | < U 25 0.0/ 74 78, 300 0.0/ 3,132
77T | ES 4] 19 0.0 73 83,798 0.0/ 4,410
T £ o # £ ¥ 8 17,522 0.7 4 2,361, 840 0.4 135
2 TOMEZEZRE 12,194 0.5 2 4,112, 491 0.7 3317
3 TOoMEDHE 3,533 0.1 3 2,409, 044 0.4 682
4 = o t H = 1,514 0.1 1 4, 669, 324 0.8 3,084
9 TOMEFOTYME 1,068 0.0 o 2,283, 006 0.4/ 2138
6 £ o M B X 8 619 0.0/ 6 352, 555 0.1 570
T % ot R R 21 0.0/ 7 44, 885 0.0/ 2137

F X H 2,659,636 100.0 555,285,145 100.0 209
(85

o & B HE(Ke) HEOG N & @ hE () FHEME

T & B A H 1,296, 146 60.7 1 312,372,234 42.9 241
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(BRX)

o & B HE(Ke) HEOG & @ hE () FHEE
2 y A = B 283, 145 13.2] 3 72,233,532 9.9 255
3 h =3 H 120, 524 5.6 4 48,714, 296 6.7 404
4 |\ T T 117,975 b5/ 5 20, 930, 352 2.9 1717
5 w5 Z B 76, 348 3.6 2 153, 108, 490 21.0] 2,005
6 L ES h vy 26, 220 1.2] 8 6,616, 836 0.9 252
7 A m| M B 18, 508 0.9 6 13,511, 340 1.9 730
8 = o) = < 16, 605 0.8/ 10 4,268, 428 0.6 257
9 LAY L B 13, 233 0.6 9 6, 083, 338 0.8 460
10 | L £ M 11, 048 0.5 11 3,967, 747 0.5 359
1 gL—7)1L—- 9,489 0.4 13 2,805, 349 0.4 296
12 NA 7y T 1,629 0.4, 16 1,180, 073 0.2 155
135 & S H 6, 682 0.3 7 8,508, 348 1.2 1,273
14 FOA40 70 —=-Y 6, 229 0.3 12 2,875, 284 0.4 462
15 NLIVVTHLUD 5,304 0.2 15 1,696, 788 0.2 320
16 A A 1= A 4,908 0.2 14 2,671,596 0.4 544
17 |9 Ly h 2,985 0.1 17 825, 228 0.1 276
18 E3 vy h vy 864 0.0 18 373, 248 0.1 432
19 Ly 5 5 < 57 0.0, 20 20, 347 0.0 357
20 B p) & p) 30 0.0 19 72,900 0.0 2,430
1 T D i W OB % 101, 871 4.8 1 60, 307, 632 8.3 592
2 ZTOhBATERTRE 9,499 0.4, 2 3,480, 830 0.5 366
3 £ o #H B = 1,703 0.1 3 819, 558 0.1 481
4 ZTOMI—R%ESE 70 0.0, 4 37,044 0.0 529

e =S B 2,137,072 100.0 727, 480, 818 100.0 340
(BER. I &)

e ) = HE(Kg) HEO ZH @ B (%) THEH
1 3 ue L 32,27 42.4| 2 3,808, 546 7.6 118
2 S L il = 18, 011 23.6| 1 31, 540, 751 62.9 1, 751
3 1= o & 12, 339 16.2) 3 3,499, 278 7.0 284
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(BOR, MIT&)

o & B HE(Ke) HEOG & @ hE () FHEE
4 - I 3 o F 2,095 2.7 4 2,058, 471 4.1 983
S |2 A I » (< 1,400 1.8 9 367, 201 0.7 262
6 » A £ 5 LV % 699 0.9/ 7 897, 080 1.8 1,283
1T XK =2 & 513 0.7) 5 1,461, 348 2.9 2,849
8 O mIm 371 0.5/ 10 176, 504 0.4 468
9 % X & 292 0.4/ 8 384,103 0.8/ 1,315
10 W % AN ) 233 0.3 6 982, 768 2.0/ 4,218
" | %= 2 & 3 192 0.3 1 130, 985 0.3 682
12 180 F £ v 2 A 55 0.1 12 91, 422 0.2/ 1,662
B+ L W = 7 6 0.0 13 39, 096 0.1 6,516
T /£ o 2 m T & 4,215 9.9 1 1,516, 132 3.0 360
2 T O F R EH X 1,701 2.2 2 1,236, 635 2.5 121
3 £ O ftbhn T H % 1,118 1.5 4 754,618 1.5 675
4 TofemITRE 481 0.6/ 5 426, 168 0.8 886
5 T OMEBERRE 195 0.3 3 799, 394 1.6 4,099

SO, MI&SF 76,193 | 100.0 50,170,506 100.0 658
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